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Directions
items :

P-PFC-L-CGJB

for the following 8 (eight) |

Read each of the following two passages
and enswer the items that follow. Your
answers to these ltems should be based on

the passages vnly.

Passage-1 |

For achieving inclusive growth ?

there is a critical need to rethink the role}
of the State. The carly debate among |
the of the |

Government can be misleading. The need ,

economists about slze
of the hour 15 to have an enabling |

Government. India is too large and 5'
complex a pation for the State to be abl,t:I
to deliver all that is needed. Asking the
Government to produce all the es-ential
goods, create all the necessary jobs, and

. . |
keep a curb on the prices of all goods is to

tead to a large cumbersome bureaucracy
and widespread corruption. ;
j

The aim must be to stay with the |
objective of inclusive growth that was lmd |
down by the founding fathers of the
nation and also to take a more modern l

view of what the State can realistically

deliver. i

This 1s what leads to the idea of an
enabling State, that 1s, a Government that |
does not try tn directly deliver to the
citizens  everything that they need.
Insteao, it {1) creates an enabling ethos

the that

for market so individual

(2 -

| 1.

A

enterprise can flourish and citizens can,
for the most part, provide for the needs
of one another, and (2: steps in to help
those who do not manage to do well for
be

individuals, no matter what the system,

themselves, for there wiil always
who need support and help. Hence we
need a Government that, when it comes
the

incentive-compatible rules and remains on

to market, sets effective,
the sidelines with minimal interference,
and, at the same time, plays an irmportant
role in directly helping the poor by
ensuring that they get basic education
and health services and receive adequate

nutrition and food.

According to the passage ;

1. The objective of inclusive growth
by
fathers of the nution.

2. Need of the hour s

enabling Government.

was laid down the founding

to huve an

3 The (overnment should engage in
maximum interference i market
Processes.

4. There i3 a need to change the xize of
the Government.

Which of the statements given above are
correct 7

{a) 1 and 2 only
‘b} 2 and 3 only
(e; 1 and 4 only
{(d) 1,2, 3 and 4
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ﬁwﬁﬁgasmra)miﬁvﬁé‘w

FrefaRaa a @il & F g @ uige ik
37 IRiT e W geen & IR alw |
57 geiel & SMUS FoX dac FEe R Bl
amenRa & @ifee |

| w91

vl Gafe o wia & fow =g o
i ) TR B TR ST €
IR F FHR & Qg A spinte &
& g8 arfiie 959 3We & wod §
T P FETEd & 6 e ARl
R W | 5w savasans @ g
R T, I8 9Rd g & faeme 3R Sl
WEY B oxEd g AEH E & | TR G
sifrard aRgall B Jeares FR, T AT

Stalal & 9o e, sk Wi aegelt B

Fdl ) B @, WY osmen fgene
A dled ik e yEER @ 3R
o e |

A6T TE BT TS B G & HRIIDT
7 form guEE) dafg &7 36T T@r of, '
M 9y 9 W R e & gas 0 s
Wepd AP Agfie gfeawr sl e
g T @91 Wer @R \odT @ |

8 me gmEeN I B AR @
IR T A g, odfE, ve R WReR A
RS B FHI LDl B B A D
VST i SRR &l WA T8 B ) qiee,
(1) 98 9FR & [0 v ISR B
B G Bl & i Afted a9 wel-Fa

(3 -~-A)

%, 3k ke, sfuew W b R,
TR B HETSAn B fe wher o)
T%; 3R (2) 9e W ot B weg & foe S
o W A & 5 wEr R W @
Faeddar B & | 31T &6 TP ORI WK
H FERG & S AR P AR W A,
e 3R e e ) 3R =ges
TR IR g @R W § w®. AR W
gErord gfaent don vata dwer R 3mER
& JucTeral gifad FRA gE I WA
TR oY A AEyt v B |

TG B IR .
1. T Uofe @ RW I P
GITH! GRT I T AT |

9. Y P NavH & 5 s e
WHR 8l |

3. WHR @B TSR @ wheani ®
ftrpds B8 IGAT 1T |

4. snazgmal & 5 WoR & IR A

oRad= & |

I § § BB F T TR E ?
(a) dact 1 IR 2
(b) &ad 2 AR 3
(¢) Faa 13R 4
(d) 1,2,_.33ﬂ?4
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According to the passage, the strategy 4.

of inclusive growth can be effected by i

focussing on

ia)

(b) Increasing the regulations over the
manufacturing sector,

(e) Controlling the distribution of
manufactured goods.

{d. Delivery of the basic services to the
deprived sections of the socicty.

3. What constitutes an enabling :

Government ?

1. A large bureaucracy.

2.  Implementation of welfare
programmes through
representatives.,

3. Creating an ethos that helps !
individual enterprise,

4. Providing resources to those who !
are underprivileged.

5. Offering direct help to the pour
regarding basic services.

Select the correct answer from the codes

given below : ,

(a) 1,2 and 3 only

‘b) 4 and 5 only !

(¢} 3, 4 and 5 only |

(d) 1,2 3, 4and5

P-PFC-L-CGJB {4 -

al}
citizen in the country.

Meeting the needs of every

A

Why is the State unable to deliver “all
that 1s necded”

1. It does not have sufficient bureaucracy.
2. It does not promote inclusive growth.

Select the correet answer from the codes
given below -

(a) 1 only

th; 2 only

(e) Both 1 and 2

(d) Neither 1 nor 2

What is the essential message being

conveyed by the author of the passage ?

‘a)} The objectives of inclusive growth
laid down by the founding (athers of
the nation should be remembered.

ibp

The Government needs to make
available more schools and health
Services.

‘et The Government needs to establish

markets and industries to meet the
needs of the poor struta of the society.

There is a need to rethink the role of
the State in achieving inclusive
growth.

‘d}

Passage-2

The concept of “creative society’ refers
to a phase of development uf a society in
which a large oumber of potential
contradiclions become articulate and
active. This is most evident when
oppressed social groups get pohitically
mobilised and demand their rights. The
upsurge of the peasants and tribals, the
movements for regional autonomy and
self-determination, the environmental
movements, and the women's movements
in the developing countriex are signs of
emergence of creative  society  in
contemnporary times. The forms of social
movements and their intensity may vary
from country to country and place to place
within a country. But the very presence of

AT |AS
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e ¥ Er, Fefafea § 3 69 w4
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(c) ¥ad 3,43R 5

@ 1,2 3,435

(5 -A) .

w5 H R § ?
1. 398 I qaie Sesend T8 8 |

2. 48 9HEN ¥afg @ Weaed T&@
AT |

%ﬁvwgaﬁwﬁﬂﬁmgﬁv
(a) Paa 1

(b) ®acl 2

() 13 2aF

() IaA13iRITIET 2

39 O b OGS RN B W W
T ?

(a) T & GRS & RN BRI
w'ﬂﬁ%mﬁraﬁaﬁm

(b) IRER & fow a8 smawas ¢ & o'
e wpa iRk wWRm Jaw Iuesd
co i I

(¢) TROR & fow I8 Iawas € 5 a8
s & e w R & Faamant B
gt & fore e 3R 3a Rnftd o |

(&) |l Hate @ wifid & fore =g &

Y R QARER S B ATawaddl
g |

EEI9T-2

' JAS B FIUROT B
TS F e $ 39w @ i a=a
& forat w2 sre o e fakremma gER
%< Gfpa 21 3o € | Ig 39 WY s
Tare B & o wwa sdifsa wmnise
T IS TR R Fufed € W € 3R
I FRERI B B HQ 2 | e
2o & feamt ik saonfaat &1 38 X
&1, e arEdr 3R srenfofa 3 e

AETAIAS

96 38380010




6. What does the author imply by “rreative -
society” ? :
1. A society where diverse arl formsi

and literary writings scok recutive,

2. A society where social inequalitios

are accepted as the norm. |

3. A suiety where a large number uof

confradictions are recognised. '

4. A society where the exploited and |

the oppressed oroups grow conscivus
ol thetr  human  rights  and
upliftment.

. 1

Seleot the correct answer u-ing the codes

given oelow :

‘ar 1. 2and 3 i

b 4 unly

‘. 3 and ¢4 i&

d 2 und 4

7. What accordimy to the passage are the
manifestations of social movemert.

1. Aggressiveness and being incendiary. i

2. Ipatipation by external forces. :

- - n . » . ‘

3. Quest for social equality and individual
freedom.

4. Urge for  granting  privilege:  und
self respeet to disparaged sections of §
the society. k

Sefeet the forrect answer u-ing the codes |

given below -

‘ar 1 and 3 only ;

b, 2 and 1 unly i

I
€. 3 and 4 only

de 1 205 and 4

|
P PEC L-CGUB ‘6

movernents for social transformation in
varwous spheres of a society indicates the |
emerzerce of a  ereative society in a
country. |

With reference to the passage, consider

the following statements -

1. To e a creauve socicty it is
essential to have a variety of social
mavements.

2. To be a creative society, it is
imperative  to have  potential

contradictions and cunflicts.

Which of the statements given above
is’are correct 7

tar 1 only
‘bt 2 only
¢ Buoth 1 and 2

‘dy  Neither | nor 2

Consider she following three statements :

I Onrly students can participate in the
race.

2. Some participants in the race are
girls.

3. All gir! participants in the race are
invited for coaching.

Which one of the following conclusions

can be drawn frum  the  above
statements !

ta)  All participani~- in the race are
invited for coacking

by All  stodents  are
coaching,

invited  for

tc: Al participunt. 1 the race are
students.

{d) None of the statement~ fa), (b: and
fe; given abuve s correct.

A IAS
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Directions for the following 2 (two) items : 12.

l

kach of the following two items COMSISLS :
of foeur Of these four'
staternents, two cannot both be true, but |
both can be false. Study the stofements
carefully and identify the two thar
salisfy the above condition. Select the'

g 5 |
correct onswer using the codes given !

statements.

below zarh set of statements - i

10. Examine the following statements -
1. Al animals are carnivorous.
2 Scme animals are not carnivorous. '
3.  Animals are not carnivorous. i
4 Some animals are carnivorous.
Codes :
(a) 1 and 3 '
(b; 1 and 2
e 2 and 3
‘d; 3 and 4
1t. Examine the following statemonts :
I. Al trains are run by diesel engine.
2. Some trains are run by dwesel’
engine,
3. No train is run by diesc! engine.
4. Sume trains are not run by dicsel |
eng ne.
Codes : |
ay 1 and 2
(b} 2 and 3
‘e} 1 and 3 *
(d) 1 and 4 I
P-PFC-L-CGJB {8

113.

Consider the four age pyramids given
namely A, B, ¢ and D
representing four different countries.

| A

below

— - Percent i;xjage class — — »
Which one of them indicates the
declining population
{a; A
(by B
{40
(dr D

The following figure has four curves
namely A, B, C and D). Study the
figure and answer the item that follows.

by
5}
L
3t
1L

Population (billions)

¢} S R -J:__.u.. e L +
GAD ZU $02 tl) Ul Moy 170 T4 LUBEL I VAT )

Yeur

Which curve
growth ?

ta} A

indicates the exponential

iby B
{cy C

(dy D

A IAS
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AefeiRae 2 (a) ween & foe Fder -
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10.

11.

P-PFC-L-CGJB
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13.
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0
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(b)
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o o o
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a wd € | i & sremom ) IS AN
fau wo wew &1 IR QEw )

0 AD 200 400 600 BOO 1000 1200 1400 160% 1300 2000

af
aﬁ%aﬂqmaﬁmqﬁaﬁsﬁm

- FRATE ?
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The following pie charts show the
break up of disease categories recorded in
the patients from two towns, Town A and

Town B. Pie charts plot the disease
categuries  as  percentage of the total

number of patients. Based on these,
answer the two items that follow the
charts,

Distribution of discases in Town - A

‘

P
&
il
,t:
i

1
92 O N
{‘: - Diabetes T N

K: 20 b g LN
AT
l Obesity
\ 287 .
Ul |
\ ‘ ﬁf Heart Discase |
d\ L 30<% |
N 'iaﬁr |
L :
' 4
P-PFC-L-CGJB ( 10 -

A0 RS T
ﬁ\;k_; — ]’ = -
I
WY High BP
Obesity f""l":‘h R T -
340
[ Heart Disease . ,

Directions for the following 2 (two) items : ' 14.

15.

Which of the two towns has a higher
number of persons with Diabetes ?

(a} Town A

(by Town B

{¢; Same in Town A and Towp B

(d} No inference can be drawn

What can we say about persons with
more than onre disease from
graphs 7

‘a)

these

There are likely to be persons with
more than one disease in Town A.

{(b) There are likely to be persons with

more than one disease in Town B.

(c) There are likely to be persons with
more than one disease in both

Towns A and B.

{d) No inference can be drawn.

Consider the following Velocity Time
grapn. It shows two trains starting
simultaneously on paralle! tracks.

—_——

Velocity

With reference to the above graph, which
one of the following statements is not
correct ?

(a) Train B has an initial acceleration

greater than that of Train A.

Train B is faster than Train A at all
times.

(b}

(c} Both trains have the same velocity

at time EU.
Both trains travel the same distance
in lime 1,0 units.

(d)

AT |AS
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14,

15.

16.

(11 -A)

241 TeRT F ¥ 59 wex A sufedis 9 w=a
fpdl B T= MeTHd AYS @ ?

(a) IR A

(b) ¥R B

(c) IR A 3R IR B & <k WA 2
(@) @ e T8 e s we

31 IerEl $ MR W & 39 afisdl & aR

w7 B G € o ve A Afts Am E ?
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(b) XeTTSl B AT S A s st
GRS
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|
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Directions for the following 6 (six) items : 117,

Reod euch of the following twao possages
and answer the iterns that follow. Your
answers to these items should be hosed on
the passages only.

Passage-1

Kcosystems provide people with ar
variety of goods and services; food, c!ean'
water, clean air, flood control, soi]i
climate

stabilization. pellination,

regulation, spiriteal  fulfilment and
aesthetic enjoyment, to name just a few.
Most of these benefits either are
irreplaceable or the technology necessary !
to replace them is prohibitively expensive, J
For example, potable fresh water can be
provided by desalinating sea-water, but

only ar great cost.

The rapidly expanding human

population has greatly modified the"l-s-

Earth’~ ecosystems to meet their increased |
requirements of some of the goods and I
services, particularly food, fresh water,
timber, fibre and fuel. These modifications

have contributed substantially to human
well being and econvmic development. The |
benefits have not been equally distributed.
Some people have actually been harmed |
by these changes. Moreover, short term'
increase« in some ecosystern goods and‘
services have come at the cost of thel
long term  degradation of others. F‘or!
example, efforts to increase the production
of food and fibre have decreased the
ability of some ecosystems to pm»idef

clean water, regulate flooding and support |
biodiversity.

P-PFC L-CGJB {12 -

With reference to the passage. consider
the following statements.

Expanding human population has an
adverse effect on :

I.  Spirttual fulfilment

Aesthetic enjoyment

Potable fresh warter

Production of food and fibre

ook N

Biodiversity

Which of the statements given above are
correct 7

ay 1, 2 and 3 only
‘b; 2, 4 and 5 only
ic, 3 and b only

d; 1,2, 3, 14and 5

The passage mentions thut “some people
have actually been harmed by these
changes™ What does it imply ?

1. The rapid expansion of population
has adversely aftected some people.

2. Sufficent efforts have not been
made to increase the productiur of
food and fibre.

3. In the short term some people may
be harmed, but ‘n the long term

everyone will benefit from
modifications in the KEarth’s
ecosystems.

Which of the statements given above
is/fare correct ?

iat 1 only
iby 2
(¢} land3

(di  None of the statements given above

A IAS

9638380010




i 6 (57) seiel & o PR -
FrafaRaa af oo 7 & g @) gy 3R
% JuiF R e geien & FO% & |
57 yoael & TE FOR daeT @ W E
srenRa & @ifer |

-1

Rfefd-dr dn @ [Jifdg R @
TP T JAE W B & W, T S,
ww 49y, 95 FaEe, e ReE,
W, Seary e, stefers aiRd
gt diedRe e, B M M 1 wsd
& | o ¥ st oy a1 @ oI
& g7 3@ whrenfia @ g S
yRies $0 & 7EM & | JaeRomd, wge S
& facrauiieRor ax Y Aol e 39ered

Rl 51 wea €, fong a' At
RA N T | 18.

5N F wee "G e A Al
| R T, @ ik fem @, sl @l
& omawmaat & ofd & fow gedt &
giRFefR-dat &) sraftis 9&e sen ® |
5 MuRadH ¥ AMd & Bral 3R HiE
R # wRQR dneH fear @ | 3 @ e
w7 ¥ faRa =@ ge & | 37 dRadHd 4 §o
At B o i g & 1 g afaRes,
qRRRE-a3 & o6 aegel T HaEt @
e ghy, ol ¥ Aefafy s@Ever B
AT W g¢ & | JaTeRond, Wl w W 6
JaEd ® §gM & VARl 9 $T
T A anT T RN |

P-PFC-L-CGJB (13 - A)

17. ‘ﬁ@iﬂ%ﬁﬁﬁﬁ,ﬁﬂ%@ﬁmwﬁﬂﬂ

HIfE |

e G SHEEN B SRIGE YN TSl §

1. e oAy W

2. diedutd IHe W)

3. U AU A6 W

4, @ UE W $ IAET R

5. ofg-fafagdr W

mﬁﬁﬁ@aﬁhﬁww@r%?

(a) Hac 1,23k 3

(b) Facr 2,43R 5

(c) ¥am 3AR 5

(@ 1,2,3, 43R5

e ¥ Irg & 6 3 aRade & $

AN @ awaT §IF g8 ¢ |7 59 BUT H A

yaffea g ?

1. SEEEm @ dF gl o $T o ®
yiigpe SI9IG 981 © |

2. wﬁhﬁ%mﬁqﬁaﬁﬂs'
fore wafe o <& gP € |

3, g & uRfefad-aa § smaRaddi &

gty ¥ o6 @ B aR &fa 9ge
Tt &, feeq drafafen & @i awit &
T Tga |

Wﬁ%éﬁm{ﬁqﬁmﬂé‘r%@?

(a) Had 1

(b) 2

¢ 13R3

@) 39 Bl § g 0 A

HFAIAS
9638380010




19,

P-PFC-L-CGyB

With reference to the passage, considerllzo.
the following statements :

b It is  imperative to modify  the
Karth’s  ecosystems for the  well
being of mankind. !

2. Technology can never replace all the
goods and services provided by
ccusystems.

Wh-ch of the

isfare correct ?

statements given above

{a)
‘b; 2 only
{(c; Both I and 2 i
‘d;  Neither | nor 2 '

|

21,

I only

Passage-2

A moral act must be our own act; mnst

spring  from our own will. If we act

mechamically, there is no mora) content in .
our act. Such action would be moral, if we \
think it proper to act like a machine and

do s0. For, in doing so, we use our

discrimination. We should bear in mind
the acting .
mechanically and acting intentionally, It !22,
may be moral of a Xing to pardon a culprit.

(il:il.}'.rlt'.t.irm betwﬂen

But the messenger carrying out the order I
of pardon plays only a mechanieal part in
the king’s moral act. But if the mesnen;;‘uri
order |
considering it to be his duty, his action

were to carry out the king's
would be a moral one, How can a man '
understand morality who does not use his
own intelligence and power of thought, but
lets himself be swept along like a log of
wood by a current ? Sometimes a mun
defies convention and acts on his own with

a view to absolute good.

(14 .- A

Which of the following statements best

describe/describes  the thoupht of the

wrter ?

1. A moral act culls for UsINg  our
discretion.

2. Mar should react w0 a  situation
immediately.

"

Man must do his duty.

Man should be  able 1w
convention in order to be moral.

defy

Select the correct answer from the codes
ziven below :

{a} 1 only

(by Il and 3
ey 2and 3
‘d: 1 and 4

Which of the following “tuatements is the
1+

nearest definition of moral action,

according to the writer

‘ar It i a mechanicul action based on
official orders from -superiors.

ib; Il 1s an action based on our sense of
discretion.

ey It is a clever action based on the

clarity of purpose.
‘dy It I8 a religious
unaerstanding.

action based on

The passage contains @ statement “lots

himself he swept alung like a fig of wood

by a current.” Among the following

statements.  which  isare nearest  in

meaning to this 7

1. A person does not use his own reason.

2. He is susceptible to influence/pressure.

3. He cunnot withstand  difficulties
challenges.

4 Heis hke a log of wood

Select the correct answer using the codes
given below :

{a} 1 only

(b} 1 and 2
(¢ 2 and 3
fdi 1 and 4

AT IAS
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Lo, i 3 e Frefiad oAt ) R |20, Freriied § ¥ SR-ayah-d v dws &

Hfsw

1. TFE T & oedm ¥ fow gl &
HALAEE & |

9. Wi & ff oRfefd-aa s
wl WM T8 o el | |

I § A S-S T W RS P

(a) Had 1

(b) ®acd 2

(¢ 13k 2@t

(@ Ta13RTE 2

TE-2

R I R T B | e, v
20 #1310 fa9s &1 M @kd € | #
= ¥ aife 1 ¥ o B 3R Ay

% & ¥ 9 e @ oke | o |22,

it poa B | P b &R6 S
oz 3R far wfte @ v @, 3R
wWd P URT B WEE WY a5 S
S 9UF 98 9 a1 &, Afdea @1 wen &9
e Todl & | s S-S WA Hedil
# g & = B e IR TG I ol
d o war g |

P-PEC-L-CGJB (16 - A}

ofee; | 21.

forat o1 Gatn auie &RaT 2/eRd § ?

1. 3R @ ufd & foe s e @
YT HE%E® € |

0. et Rufa & wa =g & sfdeis
yfciferan @A amfge |

3. T B A Eid BT U B o
LT | |

4, Ao A & e v @ i B AHaE
F T wued @ oifge |

3y R e G B TETTar ¥ T TR gHT

(a) FI 1

(b) L3R 3

(©) 23R 3

@ 13K 4

dEE ¥ aeR, FefiRea § ¥ @F-

s e Fa B Focan akymr 8 ?

(a) d8 dR&l & iR JeEl W
smeniRa Tiys o € |

by TR A fade-are w anenRRa < ¢ |

() TE 33T O GEwdA W R TR

B |
@) U8 IO W HuiRka afie 3 ¢ |

rae Fue o & 5w & g &
YdIE ¥ WY e B P GIH &€ T
dar & 17 fefafea § ¥ sR-AyEH-d
BT, 3a@/eaD Faean 3 &/6 P
1. e I abgfe B ¥ Tel o |
9. ag WMIE/EE $ o feraweE & 1
3. a8 Sogdl/Htkal B | TEl B
sl |
4, TE OO B T B A E |

I e v e B FERE TR I g

- (a) ®ad 1

d 13k 2
(c) 23k 3
(d) 134

qFA IAS
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23. Consider the following distance time

graph. The graph shows three athletes A,
B and C running side by sidc for a 30 km
race.

25.

-

i
B
E
5
22
£
&=
I
Y L S pietl e o SR ey >
O 5 10 15 20 25 30 35 40 45
Distanee in km - > ;
With reference to the ahove graph, l

consider the lollowing siatements

1 The race was won by A

2 B was ahead of A up to 25 km 126.
mark
3. € ran  very slowly from the
beginning.
Which of the statements given above;
i=‘are correct ?
(a. 1 only
‘tb: 1 and 2 only
{ci 2 and 3 only
‘dr 1, 2 and 3
24. (Consider the following figures :
2 6 ] 3 ’_l
| 40 | 24 120 ] 36 ]
What iz the missing number ?
ta: 7
tb: &
tc. 9
(dy» 10

P-PFC L-CGJB

Study the following figure :

A person goes from A to R always moving
to the right or downwards along the ‘Jnes.
How many different routes cun he adopt 7

Select the correet answer from the codes
given below

{a)
{b;
(c;

4
5)
6
(d: 7

Consider the following figure and answer
the item that follows :

What is the total number of triangles in
the above grid ?

fa: 27
(by 26
fe: 23
(dy 22

A IAS
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23.
T | I8 30T A, B § C 99 W a@st
a%rasr‘im%‘shmmsokma%a’\gam_
wRE I
C B
‘ a5r :
30 EA
I 25} X
AT 20F 4 5
E 15¢ B E
10} C :
E ;
o £ 10 15 20 25 30 35 40 45
TWkm i ——
IR eRE F HeH #, ﬁmﬁf&ﬁm
w R aife |
1, AedaEs AD NAEs |
9. WUT.25 km T UGH B UEd A 9 3N
r |
3. wcgﬁ#éﬁagaeﬁia’smwi |
e § ¥ BF-AET-R S T R ?
(a) &ad 1 . .
(b) Fac 1 3iT 2
(¢) ad 23Rk 3
(d) 1, 23R 3
24. %ﬁn‘s‘m@ﬁm‘rmﬁmaﬁﬁw:
2 6 B 7
80 | 24 120 | 36
T T T @ P
(&) 7
(b) 8
() 9
(@ 10
P-PFC-L-CGJB

Freffad @ -wwg s R f@ErR

25.

26,

(17 - A}

I D 72 Pl W TR i
U A6 AY B o 0T XA & [y
e Ren § swrar A0 & f&en § sga g
e g | a8 o -G AN 39T
bl & P

A

3 |
R R W g o FEma ¥ T W
gie :
(a) 4
(b) &
(c) 6
(dy 7

ﬁrmr%ﬁaﬂm@%u?ﬁaﬁﬁﬁum‘kwﬁs
ﬁﬂﬂﬁ:@wmaﬁrm

VAVAVAN
/NN

e s # Bl @ go e fod
g?

(a) 27

(b) 26

(c) 23 :

d 22 S
A IAS
| 9638380010




Directions for the Jollowing 4 (four) items :'27. The passage mentior= that “this world is
evidently oot meant for them™ It rofers o

. : cople who
M et Chut foflow. Your Orswers fu . peop
Phevie ciaoms should  he  bBased on the L. seek Frecdom frum forergn damonaticn.

Fiiste oty )

Roudd the follsaen o pussigie and unswer

live in starvation and Misery.
Passage ) .

. 3. become revolutionaries,

A country ander foreign dormnation

sk Rt e from the present in dreams Wh]Ch ¢l the statements g‘ivcx} above
of a vanihed age, and finds consalation Is‘are correct ?
0 vicivns of past greatness, That §s a tal 1 and 2

fuolish und dangerous pastime in which
W . P tb; 2 only

man o u«  indulge. An  equally |
Y ‘ o e O i 3

quest onable practice for us {n India is to :
mage that  we are still spintually tdr 3 only

great thouph we have come down 1n the

world in other respects, Spiritaal or any ‘28, Consider the following assumplions .

other eriutness cannot be founded on

-

A courtry under foreywm domination

fack of trecdom and oppurtunity, or on: . ' Y )
canrat indulge in spimtual pursait.

starvation  and  misery. Many westernl

wrileTs have encouraged that notion that 2. Poverty i Y t i th
- Foverty is an  ‘mpediment  in e

tadiars ure other worldly, | suppose the spiritaul pursuit

poor and unfortunate i every rountry

Decyme Ly some  extent other-worldly. 3. Subject peoples may become

atless they become revolutionaries. for | other-worldly

thrs world is cvidently not meant for
them 8o also subject peoples. * With reference o the passage, which of

. , the above assumptions is‘are valid ”
As 4 man grows to maturity he is

not ertirely engrossed in, or satisfied (a) 1 and 2
with, the external ohjective world. He: - (hi 2 only
secks abo some inner meaning, =ome
: o . ‘¢: 2 and 3
vrycholoviea.  wod physical satisfactions.
. A . 3 T []
Seoales wioh peoples and civilizations as d 3 only
ey amature and grow  adult Every
Cvilization  and  erery people  exhibit 29,  The passagc themat:cally centres on
e naralled wireioms of k] Hifer . e
i paralled -treiom __"f an exterual bife ‘@ the state of mind of opprossed people
g an intorng e Where they meet or b
. . ' starvat misery
seef ddose o oeach other, there s oan starvat on and miser
eguihbrium  and  <tability., When they ‘¢c. the growth of ¢iwviization

(Ll'!\f("r::fi COnfIel Brises 471d the Crises that id. bﬂdy mind ard ‘Spiﬂt of pel.jple in

genery!

PPHC L CGUB 118 A @%?]QIAS
9638380010

Lerture the mind and spirit




P-PFC-L-CGJB

Pt 4 (a) serie & R R -

frefeiRaer erearer & ufgr 3R 39a FRid faw
T §I9N & IO EHoTT | 3 qeen & Db
IR 3aeT (@I WX &) ITENRT § IfeT |
orETe
g o 2w RN w & e A &,
7d 92 & fogea gn & @ # a9 m |
SeTIE # i 9 € | T8 T

i
s% 1o .
L

1

:
2
g 7
e
sr o

]
3

23

x
zwg}gi
244
~ 8ok

27.

28.

29.

{19 - A}

o ¥ oo € 16 uE A weaerr 36
e =8 & 17 o' 37 aml & i o=ar &,
5|

1. faeeh wya @ wadFar aed € |

2. @AY 3R g@ & e S ©
3. wifdeN) &1 3K § |

394 # ¥ DH-I/BH-A HUT Fel €78 ?
(a) 13K 2

(b) &I 2

() 23k 3

(d) Had 3

fFrfaRea wraan R fdar i

1. foEh i & 39 oF 4w ameafeTe
IR H T &l 8 Wb |

2. eaiAd SRyl d Fdaar sRies
& |

3. WY 39 RAlS-URII0 & I&5d & |
Tegd oEie % Hed H, dF-d 3u®
HTAIA® 4T 2/8 ?

(a) 13K 2

(b) ®ad 2

() 23K 3

(d) oad 3

Ih oty o v feefeiea & @
o dfhad ?

(a) Scnfsa el & Alee R

(b) @ 3R g@ R

(¢ T F Ga W®

(@ | A & e, SR S )

@) arETA IAS

963838 0010




30.

Directions
items :

P-PFC-L-CGJB

According to the passage, the torture of |31.

the mind and spirit is caused ;

E

‘a! by the impact of foreign domination.
{bh)

by the desire to escape from foreign
domination and find consolation in

visions of past greatness.

{¢) due to lack of equilibrium between

an external life and an internal life.
d: due to one’s inability to be either

revolutionary or other-worldly.

for the following 3 (three)

Read the passoge given below, study the'
graph that follows and answer the three:
iterns groen below the figure.

During a party, a person was
A few '

days later, he developed fever and loose

exposed to contaminated water.

motion= He suffered for some days before
On

starting the treatment, he soon became |

going tu a doctor for treatment.
better and recovered completely a few |
days later. The following graph shows
different phases of the person’s disease
condition as regions A, B, C. D and K of

the curve.

E

Number of Bacteria

G_,
e

{ 20

32.

33.

34.

A

of
to

the
incubation

Which region/regions
correspond/corresponds
phase of the infection ?

curve

(a) A only

ib) B only

(c) BandC

td} No part of the curve indicates the

incubation phase

Which region of the curve indicates that
the  person  began the
symptoms of infection ?

showing

(a) A
by B
(c; C
{d} D

Which region of the curve indicates that
the treatment yielded effective relief ?

tay C
(b D
{e; E
{di The curve does nov indicate the

treatment

There are four routes to travel from
ity A to city B and six routes from
city B to city C. How many routes are
possible to travel from the city A to
city C ?

ay 24
(b; 12
(cv 10
‘dy 8

() AT IAS
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30. TG B AR, W AR

P-PFC-L-CGJB

ST D AN T

HROT FT & ?

(a) el Wy &1 WG

) Fe wye ¥ gemae & g SR 9

(© @ e FR falke® shed & &9
S ——-——

(@) wRp B wemar T A ag Bikery

& & U & A & Reltd-uRrauT

R 3 () ge=ien & foe Ader -

T I & AT P IR AHid &

Mo RBr 7w & geien & o) afow |

ol <aa & i 89 & ARF @
s Agitd STe & Wb W IR | 3 T8
feql e g@R a1 M 3R & TN W | gw
& P8 Al 7% a8 gER 3R R T e
@, IR 399 Si|x F aa1 o | R IS
o & UTar], AW & I ARW 7 Ggw
A o 3R 97 $8 & A A faege 3@ &
T | FefRed sere # 3 wRE @t e
yaen o e RO %P & A, B, C,DW
E &7 % w9 7 qufg € |

(21 - A}

31.

32.

33.

(d)

34,

ap DS DH-AYDE-H & GPAT S
IEME TROT &6 WA 878 ?

(a) &ad A

(b) HacT B

© B3R C

(d) % BT BIE N WA IZHAA TWOT D T
<ITe

a5 ¥ e & A §fia Aar & T 3w =afe
# THHOT B &1 GHT B LE gE ?

(a) A |
(b) B
(e C
(@ D

3% > o &3 ¥ 3@ S € o swr |
guTdl &g W g5 ?

(a) C

(b) D

(c) E

agaﬁsmaﬁqﬁzsﬁm

I A ZET B a® I & o IR I &
qT IR B ¥ IR C a6 o & foe &
TAT | IR AV IR Cad 71 & o

P T dwa £ 7

(a) 24
(b) 12
(0 10
(d) 8

@ A IAS
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35. A contract on construction job specifies
a penaity for delay in completion of the
woris  beyond a certain date is as
follows © & 200 for the first day, ¢ 250
for ~he sccond day, 2 300 for the thirdu:
day etc, the penalty for each
succeeding day being ¥ 50 more than
that of the preceding day. How much
penalty should the contractor pay if he
delays the work by 10 days ? '
fa} ¥ 4950
‘by < 4250
{er 2 3600
(di ¥ 650

36. Consider the fgure given below and
answer the itern that follows :

P, ;
;’
Oy P [
In the figure shown above, OPl and OPz‘
are two plune mirrors kept perpendicular |
to each other. 8 is the direction of a beam |
of light falling on the mirror OP,. The
direction of the reflected beam of light
from the mirror OP, will be
‘a, Perpendicular to the direction S.
b} At 45° to the direction S.
¢} Opposite and parallel to the
direction S. '
(d} At 60° to the direction 8.
P-PFC-L-CGJB { 22

37.

38.

A

Consider the following figure und answer
the item that follows ;

What is the minimum number of different
colours required to paint the figure given
above such that no two adjacent regions
have the same colour ?

(a} 3
(b 4
(e} 5
{d) 6

Consider the following figure and answer
the item that follows :

B i

B
|
?

' ;

l 48

i
L.___L_._ . |
A square is divided into four rectangles as
shown above. The lengths of the sides of
rectangles are natural numbers. The
areas of two rectangles are indicated ip
the figure. What is the length of euch side
of the square ?

(a) 10

by 11

{c) 15

(d) Cannot be determined as the given

data are insufficient

AT |AS

96 3838 0010




35. | 37.
ofr v W o wHge ¥ 2 F e ds @
fafder foom wan 2, 31 39 WOR € : g
feq & o 7 200, ©R &7 & foe 2 250,

AR = ¥ foe ¢ 300, 3@ | TR
qadr i & foe < fieer & @ % 50
s & | ol o a9 # 10 oA
It o € A 3B @ fhae &8 Jer|
AT Wige P
(a) % 4950
(b) T 4250°
(¢) 3600
(d) <650

36. 0 & T Ipla W faoR Hifsw 3R T9d |38,
gz fe e i & FR A

P2
/
0 P,

F9R & T anpiT W, OP, 3R OP, & Wl
edor € 3 TR & HgeE | € | OP,
edur W Ugs Al Wl g3t @ feen S |
D & OP, o1 F Wafia Ferer 4ot i i
Far gy ? |

(a) Sﬁ?ﬂ%ﬂﬂﬁa

o) Sfem = 45° =

) S e & Jeda stk wmieR

(d) STEmd 60w

P-PFC-L-CGJB (23 - A )

fee Foforad & dfdar #, v FeiRa

2% @ T R AR @R IR T
mﬁﬁemmmmaﬁe:

FR A 1 el ¥ o o O & Fiseadf
&3t § v o 7 AR WA & Al $9 i
T 41 v o e v9-9-59 e swen-3emn
i @ SR enft ?

{a) 3

(b) 4

(c) b

(dy ©

I & T el R faur i sk Iue
geaT f& e seATer @ SR A -

15

| IAS

9638380010




39.

40.

41.

P PFC-L-CGJB

A person has only ¢ 1 and ¥ 2 coins with 542.
her. If the total number of coins that she

has is 50 and the amount of money |
with her is ¢ 75, then the number of € 1
and ¥ 2 coins are, respectively

ta; 15 and 35

b* 35 and 15 4

ici 30 and 20

}

i 25 and 25 ‘
1

E

Three persons start walking toget.her,
and their steps measure 40 em. 42 cm
and 45 cm What is the

|
minimum distance cach should walk ~o -

respectively.

that each can cover the same distancef
in complete steps ?

|

‘a) 2B m 20 em |

|

50 m 40 em \
75 m 60 cm

|

|

fd' 100 m %0 em |
l

13.

There are 100 students 1 a particular
60"~ students play erwcket, 30¢,
student play football and 10 students
play both the What 158 the
number of students who play neither
cricket nor {notball ?

class,

games.

‘aj 25
‘b: 20
{c} 18
(d: 15

A willage having a population of 4000
requires 150 litres of water per head
per day. It has a
20m x 16 m < 6 m.

tank will last for

tank measuring
The water of this

‘al 2 days
‘bt 3 days
‘¢! 4 days
‘dr 5 days

If a bus travels 160 km in 4 hours and : Directions for the following 4 (four) items :

a train travels 320 km in 5 hours at |
uniform speeds, then what is the ratio
of the
one hour ?

diztances travelled by them in'

‘a;y 8:5

th) 58

!
|
‘el 45 i
dr 1:2 !

{ 24 -

A}

Read the following passage and answer
the items that follow. Your answers o
these items should be based on  the
pessage only.

Passage
A species that exerts an influence
out of proportion to its abundance n an
ecosystem is called a keystone species,

The keystone species may influence both

AW IAS

9638380010




39,

- 40.

41.

P-PFC-L-CGJB

T ERE S UET 1AM 2 e €
gfz 3a% T oa 50 faaw € 3k a1
275, G 39P U T 1AW T 2P aadl
B G HHI .

sk 3sE
®) 353 152
() 303R20%
95 3 25

{a)

(d)

A9 =Rs U 1Y TEel 3IRY A & o
35 HEH] & G HHYE 40 em, 42 cm T
45 cm & | 90 =i e gFaw o
a5 T alid Jedd wis g gl @ o
ol g R A ?

(a) 25 m 20 cm

(b)' 50 m 40 cm

{(¢) 75 m 60 cm

(d} 100 m 80 cm

ﬁw-ﬁﬁ%ﬁwww4ﬁ
F 160 fodt X o T & qAT T XS
5 4¢ ¥ 820 f5d g0 a9 &< 8, @ 3o

R vh e ¥ g & ™ gRdl @
FgEa g

| (a) 8:5

(b) 5:8

_ tc) 4:5

(d 1:2

42,

43.

(25 - A}

3y wen o Renf¥l & T 1002 | 60%
el fpde W &€, 30% faomd gesia
Qe & qen 10% Bl N @ | €
R el & e o @ S 9 fbde
e & ik 7 & peater Terd € ? |
(a) 25
(b) 20
(c) 18
(@ 15

oF Tifg &) SRR 4000 & By R i
R6 idied 150 Tlex F| & el
| S IH US U B B B Trma
W20mx15mx’6m%|ﬁa‘%éﬂa
& 7 foan &St & wwa @ 2

(2 2f=T ® |

by 3R A

) af=Td

@ s+

| FfeiRaa ¢ (e) geen & fore e

Frefefea aGrer @ afer 3R 3a& IWid
Rr v goaien & For 5w | 3 yea & .
I FR A @Y R & IrEIRa &
aree |
AT

e s st R oRfefeds o
TN TERAT & I T §§ TR AHS S
¥, T SR (SRS SR B s R |
ol (SRCH) afe, Sfa & agerdl ot
g aeur aRRufad-dHt § o w9t 3k
yarelf & VR P weIiad ax el © | SR
aRT RN ASfyaw W, ;o OFR
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the species richness of communities and

the flow of energy and materials through
The

ochracyus, which lives in rocky intertidal

ecosyrsterms. sea star Pisaster
ecosystems on the Pacific coast of North |
America, is alsn an example of a keystone
species Its preferred prey is the mussel
Mytilus californianus. In the absence of
sea stars, these mussels erowd out utherg
in a bread belt of the

intertidsl sone. By consuming mussels,

competitors

sed star creates bare spaces that are:r

taken over by a variety of other species.

A study at the

Washington demonstrated the influence of |

University of

Pisaster on species richness by removing |
selected parts of the

intertidal zone repeatedly over a period of

sea stars from

f
five years. Two major changes occurred in |
the

removed. First, the lower edge of the

areas from which sea stars were
mussel bed extended farther down into !
the intertidal zone, showing that sea stars
are able to eliminate mussels completely
where they are covered with water most of ﬁ
the time. Second, and more dramatically,
28 of

disappeared from the sca star removal :

species animals and algae

zone. Eventually only Mytilus, the
dominant competitor, occupied the entire
substratum. Through its effect on

competitive relationships, predation byt
Pisaster largely determines which species

live in these rocky intertidal ecosystems.

( 26

44.

i46.

- A)

What is the crux of the passage ?

(a} Sea star has a preferred prey.

(b} A preferred prey determines the
survival of a keystone species.

(c) Keystone species ensures species
diversity.

(d) Bea star is the only keystone species
on the Pacific coast of North
America.

With reference to the passage, consider
the following statements :

1. Mussels are gencrally the dominant
species 1n intertidal ecosystems.

2, The survival of sea
generally  determined
abundance of mussels,

stars  1s
by the

Which of the statements given above
is/are correct ?

(a) 1 only

‘b) 2 only

ic; Both 1 and 2
(d) Neither 1 nor 2

Which of the following is/are implied by
the passage ?

1.  Mussels are always hard

competitors for sea stars.

2. Sea stars of the Pacific coast have
reached the eclimax of their
evolution.

3.  Sea stars constitute an important
component in the energy flow in
intertidal ecosystem.

Which of the statements given above
is/are correct ?

{a) 1 and 2
tb} 2 only
{c) land3
{d) 3 only

@ " IAS
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e ¥ woid TR d¢ W OTgEN
AR (B T B 0 IAET ¥ |
Tam WA PR AT afreifTarTd
oig & | wgd arit @ sl &, 7 9y
SR wee & favga ¥E # I 3

SRrafrgt 3 e . gad S §g o €|

R 375 fore < @l O | HHR aR $
gigstl @ UE T, 39 U F HFAG R
J &} & ¥ Rl g yer & s
St e e @ & ol € |

afdrres fawafaarca g1 6w o
semoe § dfg a§ @ aaEfer # eRsERIa

s ¥ o WAt ¥ T AR B aRaR |

PR ST B wHig | gEder & A
@ aeian wn @ 4 for A wd ARl

ot T en, 3 At § @ yE e

aRd gu | wom, 9ig wwR & Fraen e
saas=g &7 ¥ ik o fwga & wm
e g wae g & 5 37 &l A T ¥
H ST T Se-aTeRed g § a8
TR aR I W A I B EEd @
£ | o, B e ¥ W Al @ e
T, a8 G ACHd & ¥ TR S
3R et ) 28 Fferdl fagget &1 T 1 s
R AERR D I & B uEe weann
fftera 3 apa & W forn | opdeY &
wRweT F, vl TRl O UgH e 99T
sreRTsaR mRRfEE-aa & S @ sk
&1 SEd & EA © |

44.

45.

46.

{ 27 - A}

oRafe & T T E ?

(a) TB AR B A T TG
| 7 | :

b FTHROEN (@) S B R
gada ReR ¥ Freifa aar @ |

(¢) Fotfen (PR F, g &
faferar @1 gFRaa o= € |

@ o ARE & wid WRE q@ R

%amuamﬁgﬁ'ﬂﬁm(a%‘m‘m
|

e & wf #, FriRed BoE W R

DI - |

1. mmwﬁumﬁﬁaﬁa&

vigett & argeaar & FafRa @ @ |
3w A & -/ FUT T &fe ?
{(a) aSHﬁl
(b) Had 2
(¢) 13R 2
@ Far 1R T2

rafefea & ¥ PF-oF AR aea aE

gRT &< AT &/ ¢ ?

1. Q@Wwaﬁaﬁmmﬁ
&1 <& E )

9. WEiG W T B WA
B & o W UET g5 € |

ar e

- R TR se”isar nRfefie- |

35 vt % e Twes § |

i § ¥ S w A A
(a) 13k 2
(b) &HAT 2
(¢ 133
(d) Had 3
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47. Consider the following assumptions :

l. The food chainsfood web in an
ecosystem  are  influenced by
keystune species.

2. The presence of keystone species is
a specific characteristic of aquatic
ecosystems,

3. If the keystone species is completely
removed {rom an ecosystem, il will
lead to the collapse of the
ecosystermn.

With reference to the passage, which of

the above assumptions is/are valid ?

(a) 1 only

{b) 2 and 3 only

(¢c) 1 and 3 only

{d}) 1,2 and 3

48. Consider the following argument _

“In order to be a teacher one must

graduate from college. All poets are poor.

Some Mathematicians are poets. Nol

college graduate is poor.”

Which one of the following is not a

valid conclusion regarding the above

argument ?

aj Some  Mathematicians are not
teachers.

th) Some teachers are not
Mathematicians.

(¢} Teachers are not poor.

(d; Poets are not teachers.

P-PFC L-CGJUB { 28 -

49.

50.

51.

A )

A student on her first 3 tests received
an average score of N points. If she
exceeds her previous average score by
20 points on her fourth test, then what

is the average score for the first
4 tests ?

(a) N + 20

(b) N+ 10

ey N+4

(d N+5

In a group of persons, 70% of the
persons male and 30% of the
persons are married. If two-sevenths of
the males are married, what fraction of
the females is single ?

are

(a) 2/7
(b) 1/3
(e} 3/7
(d) 2/3

The houses of A and B face each other
on a road going north-south, A's being
on the western side. A comes out of hjx
house, turns left, travels § km, turns
right, travels 5 km to the front of D’
house. B does exactly the same and
reaches the front of C’s house. In this
coentext, which one of the following
statements 1s correct ?

fal C and D live on the same street,

{b, C’s house faces south.

(¢c) The houses of " and D are less

than 20 km apart,

None of the above

A IAS
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48.
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(d 1,233

Prefifam gfts ® R e

"HUE B & ol Hiclel B FAD BT
Fagas ¢ | i oy Frefa @9 € | 38

s i A € | P Drelel @& WD |
e @i -

T gf B v § Pl F @
a1 1, du =g A & °

(@) TG A 3eANS T §

(b TE NS TS TEl © |

(c) 3eamd fefa 8 € |
(@) ®fF s 7§ |

49,

. | 590.

51.

(29 - A)

e S g1 R o T T S
iaa weie N 36 ¢ | aft 98 s did
weor ¥ fiea g a@ie | 20 AF
Hh Wi Bl &, A1 WoF OR WKEl #
Fia Wi v g P

(a) N+ 20

(b) N + 10

() N+4

(d N+5

ftsdl & ve wug #, 70% ARG o9 &
¥R 30% =fs fGafea & | afc gout @
2/7 wm faafeq &, o =feemsh &1 foemn
97 3ifqaried € ?

(a) 2/7

(by 1/3

(e) 3/7

(d) 2/3

FR-SAOT ST U WP TR IEA-EA A
td B R E ot A &1 X aRe 3iR
21 ANH W J G I B, af g
£ 5 km 9o &, @0 go1 §, 3R 5 km
TR DIWS I I A &€ | B
NI T R DA TRMNENRCI RS

- Y udy o @ | 39 Hey A, Feefalea

ﬁ%a%h-wwasm‘ﬂé’r%?

“(a) CIRDUE & ¥ W I & |

(b) C& R B 4@ o B AR T |

¢ C3IRDP W IGTR ¥ 20km &
FAYRE |

() 399 H § P$ T
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Directions for the following 5 (five) |
ttems : :

Read the following passage and onswer
LA torns that foltlow Your answers to
these st <heatd be bised on the PEEsEse
only.

Passage ‘
Nuow India's children have a right
to recenve at least cight years of eduecation -
the gnawing guestion is whether 1t wiﬂl
remain on paper or become a reality. One |
hardhy needs 4 reminder that thes ryzht
s different from the others enshrined in
the Censtitution, that the beneficiary

‘a six year old child cannot demand ‘t, ner |

car she or he fight 4 legal battle when 5’2
1 02,

the rigrht v dented or violated. In all cases, |
1t is the adult society which must act on |
behulf of the chitd In another peculiarty. '
where a ¢hld's right to education i
dented ro compensation offered later cun ‘

l

be adequate or relevant. This s 50 |
because ehildhood does not last. If a legal ¢
battle fought on behalf of a child -

evertually won, it may be of little use to

the bov or girl because the opportunity

mixsed at school during childhood cannot
serve the -ame purpose .ater in Life. Ths

]
may be painfully true for girls because

our socicly permiis them only a ﬂ'hort[
1

P-PFC-L-CGUB {30

childhood, if at il The Right to
Education (RTE; bas become law at a
point in India’s history when the ghastly
practice of femaic infanticide has
resurfaced in the form of foeticide. This
is “symptomatic of a deeper tarmoil” in
society which is compounding the
traditional obstacles to the education of
girls. Tenacious prejudice against the
intellectual potentisl of girls runs across
our cultural diversity and the system of

educaticn has not becn able to address

it.
With reference to the puassage, consider

the following statements -

1. When children are denied education,
adult society does a0t wct on behalf
of them.

2 Right to Education as a law cannot
be enforced in the country,

Which of the statements given above
13/are correct ?

(a) 1 only
‘hi 2 only
{c;y Both ! and 2

{d)y Neither 1 nor 2

@ A |AS
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frefeRea 5 (ara) geren & fore fAder -

frteiRaa aarer @ ufer 3k 395 IuRia
fav 70 oo & I} @forw | 59wl &
3 JTR Sac ST % & IEART
aifee | -
e

3q TEG WRA H T B AT 6
It @ Rien e A @ SR W
& T &, o8 dodie NI wed & 5 @
31l ARAGEAl B WY ¢ G | TR e
e & oo @ A € & a7 afteR
dfge & wiosoilia g R 9 arem
¢ Ooifs zam ol - &% © odg
So/aEl F @ THS Wi R adsadl B,
C 9 & 39 AR | dRud @9 a3
IeeiE B W B TS g waar/dl

g | I THell d, 9) davs WIS & 2
5 = & IR ¥ sdaE &= A |

TR fomeor ag o8 2 6 o e s=
P Rram & aer ¥ dfua fear s &,
a9 g H fear wn @ o Wamaen 7 ar
Taiat 7 & RS @ [oar § | T g
g & scaeRr & 98 '@ | ot e
& @ AR 9§ @l T BN oS Sice
S O o I €, a8 W g8 39 aed
o7 g et & foe fodl @ @ T8 gt
Fife qeaeen ¥ faaea &1 S FaR @
Pl B &, I ohed H @i & ani o

52.

(31 - A)

I yae o @M Ad 3T waar |
I8 §@c W0 9§ afcrent & foe dwaa
It W @ ®ifP TR WS & EN
32, ot fer o & @ e SeaEe
& Fred € | uRag sfera § fen &
atER 4 39 gor # I & w9 aror
fan 8, To wra wwr Ry g & qRoor
T YOT BT B BT H T IN & I
? | g8 s H TR fasw @ gas”
g S wfcreren o fEem # ™ @

R 9l & 9 feer ) AR §a

w2 | oot @ difce amar & aog

UF IE qaft e o Wil fafaern

¥ o & aur fer gone 39 @R a] 9m

H amed | Rl

e % e #, Frefied o W R

B

1. 9 g} o e @ 9fua <an I g,
amwmﬂaﬁaﬂ?%aﬁ%m@
TE B |

2. 2w W fIen & YR Y & w9 8

vafaa =& fear s adban |

I & W B WA w2

&ad 1

&Had 2

1 3R 2 @Fr
Tar 13k T & 2

(a)
(b)
(c)
(d)
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9638380010




53. Ascording to the passage, what could be (55.
the  tradittional  obstacles to  thel
education of wirls ? :
[. Inabibty of parents to fight a legal

hattie when the Right to Education
1> denged o ther children.

2. The traditiona! way of thinking

about 2irls’ rule in society.

3. The preiudice against the '

i ellectual potential of girls. i

1 T proper sv-tem of education.

Select the correct answer from the codes

Aven Boelow

ra: 1 and 2 only

b 2, 4 und 4§ anly

¢t 1 3 und 4 only

156,

d P24 and 4

54. On the bass of the passage, consider the s
“ollowin: <tatements
! Right v Eduvation is a legal right and |

not a fundamental right.

2. For realising the goal of universal
educutiorn, the education system in the
country must be made identical to that
of developed eountries.

Which of the statements given above

fwoare correct 7

|

a1 only i

‘b 2 oonly :

‘c; Both { and 2 |

‘'d* Neither ! nor 2

|
P-PFC-L CGJB ({32 A

Which one of the following statements
conveys the of the
passage 7

key message
{a) India has declared that education is
compu!sory for its children.

Adult
implementing

keen  on
Right to

{b} society is  not
the

Education.

(¢t The Right to Education, particularly

of a girl child, needs to be
safeguarded.

{(dy The system of education should
address the issuc of Right to
Education.

Which onc of the following statements
conveys the infercnce of the passage ?

{a) The
prejudice

society has a tenacious

against the intellectual

potential of girls.

{b) Adults cannot be relied upon to
ficht on behalfl of children for their
Right to Education.

{e; The legal fight to get education for
children is often protracted and

prohibitive.

(d; There ts no sufficient substitute for

education received ic childhood.

qFA IAS
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53.

54.
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iy ¥ AR, it b fen s Y |
A WORWT qrent - & P

1w R R, Y wed @ Ren v
R ¥ dfu@ @ FW W
@B We ¥ armefar |

2. 9l ¥ aifcesi & yiier & fava A7
wheard | | ‘

4. %wﬁaaug?ﬁml

%WW@@W@H@W@%@
(a) &ad 1{3ﬁ<2

by e 2, 3 3K 4

(c) Paa 1,33k 4

(@ 11,2334

i % MER R, PeREd s ®
frar i - |

1. %mﬂﬁwﬁfmm%‘,ﬁf'

PR T |

2. |3 e & @ & 9w & S foe,
o1 B frem yoment @ fostaa i &
fH1eq WOTIE % WENE §9 ATEYAS €

39 H A B /A FUF A9 e ?

(a) PadA 1

(b) &act 2

(© 13k 22

@ Td13RTE2

{33 - A)

55.

56.
% ey P UTh BRAl § ?

Fraftied d © dN-w FoF 39 o &
el 2 B B PRl & ?

(a) ¥R 5 Og OO o< 4 & 6 2w p
gt % e fen sferd &

(b) TaTF AT Brem & IR B
Frifad & ¥F 30 T8 & |

() Brenm ¥ fferR &, 9w aifcrasi
o, JRET BT IS 8 |

(@) Fen yorret @ Riam & AR & gL
& i 3@ B @ifee |

Pt § ¥ P93 ve wem, 39 o
(a) wars Sferent o difce amar & wf
Uh GRS Q@ ¥ U ¢ |

(b) T & fem & ftweR & fov Tud
¥ Toe W W T8 R
b |

() Tl @ Fram e, & @ A
g @t 3R e 2 & |

(d) mﬁmtﬁﬁrmﬁ’l%maﬂ.aﬁs"
0 waf wferem= =& € |
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Read the following passage and answer| Read the following passage and answer
the 3 (three) items that follow : the 3 (three) items that follow :

A, B. C, D) and E are members of the |
same family. There are two fathers, two
sons, two wives, three males and two
females. The teacher was the wife of a
lawyer who was the son of a doctor E is
nct a male, neither also a wife of a
professional. C is the youngest person in
the fumily and D is the eldest. B is a 60.

male.
57. How i3 D related to E ?
ta) Husband
61,
fb, Son

{ci Father

'dy Wife

62.
58. Who are the females in the group ?

ta) C and E
b} C and D

fcy E and A

‘83.
‘d; Dand E b

59. Whose wife is the teacher ?
wa) C

(b D

(c) A

‘dr B

P-PFC-L-CGJB {34 - A}

In a survey regarding a proposed
measure to be introduced, 2878 persons
took part of which 1652 were males. 1226
persons voted against the proposal of
which 796 were males. 1425 persons voted
for the proposal. 196 females were
undecided.

How many females voted for the
proposal ?

{a) 430
(b) 600
(e) 624
(d) 640

How many males were undecided ?
(at 31

(b} 227
(c) 426
(dy 581

How many females were not in favour of
the proposal ?

(a) 430
(b) 496
(c) 586
(d) 1226

In a queue, Mr. X is fourteenth from the
front and Mr. Y is seventeenth from the
end, while Mr. Z is exactly in between
Mr. X and Mr. Y, If Mr. X is ahead of
Mr. Y and there are 48 persons in the
queue, how many persons are there
between Mr. X and Mr. Z ?

(a) ©
(b) 7
icy 8
td; 9

A IAS
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FrefeRea drarier @) 9fge sk 3we gean e

e 3 (d7) el & Fax A -

57.

58.

59.

P-PFC-L-CGJB

A,B,C,D W E t& & IRAR & Ge™

¥ A RmE D E D o E dm

gy 2 3R @1 Rt € | sreaifie v o

& UeT B, U TN U SRR FT P N |
E g9 78 2 3Rk 7 & a8 5 e &

Tl & | uRaR ¥ C 99 &9 39 &1 @ 3R
D 981 & | B US o9 & |

DHEQ 1 G & ?

5 wig A Rt SEH E 2
(a) C3IRE
() C3RD
(¢) E3RA

@ DIRE

Rt vl sreafiaT & 2

(a) c

(by D

© A
B

(d)

freafalea orare ) affe sk sa% veag Re
e 3 (A7) gement & Jov dfw ;0

60.

61.

62.

63.

(36 - A}

et v wanfaa sngur @ ang R
¥ ud 39 W fev w ves gdaor A 2878

fepat ¥ fevw o 5w 1652 o & |

1226 Bfsdl ¥ weaE ¥ Rog 7 R,
form | 796 gow & | 1425 wfirdl 3 v
& el ¥ Ha fear | 196 Rerdil sifaoia of |

fbae) Feat 7 weama & vt & wa fan 2
(a) 430
(b) 600
() 624
(d) 640

Roer you s o 2
(a) 31

() 227

(c) 426
(d 581
fat R vama & uar § =18 of ?
(a) 430
(b) 496

(c) 586

(d) 1226

fear ufep ®, S X 9 @ 149 WIF )
2 3R Hwm Y oig | 178 wm w &, swfe
MAA Z, A9 X 3R NAE. Y & 36 uea |
2 | fmE X afe A Y F sm # 3k ofts
4§ $eT 48 h €, A1 SAE X 3R v 2 &%
aa P s ¥ ?

(a) 6

by 7

() 8

@ 9
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Directions for the
items :

following 9 (nine)

The following nine items ‘Questions 64 to
72/ are based on three passages in
English to test the comprehension of
Engush language and therefore these
items do not have Hindi version. Read
each possoge and answer the ilems that
follow. |

|

|
He walked several miles that day but |

Passage-1

coule not get anything to eat or drink
except some dry bread and some water,{
which he got from cottagers and farmers.

As night fell. he slept under a haystack '
lying in a meadow. He felt frightened at fl:
first, for the wind blew awfully over the

empty fields. He felt eold and hungry, and |
was teehing more lonely than he had ever
felt before. He, however, soon fell asleep,
being much tired with his long walk.
Wher: he got up next day, he was feeling
terrbly hungry so he purchased a loaf of

bread with a few coins that he had.

64. When the night fell, he slept
far i the open feld |
thy under a pile of dry grass |
{c) in a tarmer's cottage
fdy under « tree
65. He soun fell asleep because
{a) he was exhausted
‘b he was all alone
-¢. he had not =lept for days
«dr  he was very frightened
P PFC L-CGLUB { 36

66.

A)

With reference to the passage consider
the following statements -

1. He
countryside.

was walking through the

2. The cottagers and farmers gave him
enough food =0 that be could sleep
at night without feeling hungry.

Which of the statements above

is/are correct ?7

given

{a} 1 enly

(b} 2 only

{c} Both 1 and 2
{d) Neither 1 nor 2

Passage-11

I opened the bag and packed the
boots in; and then, just as | was going to
close it, a horrible idea occurred to me.
Had I packed my toothbrush ? T dont
know how it is, but | never do know

whether I've packed my toothbrush,

My toothbrush is

haunts me

a thing that

when P'm travelling, and
makes my life a mi=ery. [ dream that |
haven't packed it, and wake up in a cold
perspiration, and get vut of bed and hunt
for it. And, in the morning, [ pack it before
I have used it, and 1 15 aiways the last
thing 1 turn out of the bag: and tken 1
repack and forget it. and have to rush
upstairs for it at the last moment and
carry it to the railway station, wrapped up

in my pocket-handkerchief.

AT IAS
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Aefifaa 9 () gerel & P fder

64.

65.

P-PFC-L-CGJB

Freffad 9 (31 geier (FeT 64 @ 72)
35t & diF ren w senRa & ik sash
w5 & e & e & fow & 1 3 5

woren @1 o=t gz 8 Rar s rer & /|

g @@ uigr aon Refoiaa geien &
IR o |

Passage-1

He walked several miles that day but

could not get anything to eat or drink|

except some dry bread and some water,
which he got from cottagers and farmers.
As night fell, he slept under a haystack
iying in a meadow. He felt frightened at
first, for the wind blew awfully over the
empty fields. He felt cold and hungry, and
was feeling more lonely than he had ever
felt before. He, however, soon fell asleep,
being much tired with his long walk.
When he got up next day, he was feeling
terribly hungry so he purchased a loaf of
bread with a few coins that he had.

When the night fell, he slept
(a) in the open field
{b) under a pile of dry grass

{¢) in a farmer's cottage

(d) under a tree

He soon fell asleep because
(a) he was exhausted

(b) he was all alone

(¢) he had not slept for days
(d) he was very frightened

{37 - A}

66. - With reference to the passage, consider

the following statements :

1. He was walking through the

countryside.

2. The cottagers and farmers gave him
enough food so that he could sleep
at night without feeling hungry.

Which of the statements given above
is/are correct ?

(a) ‘1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

Passage-1l

I opened the baf,r and packed the
boots in; and then, just as I was going to
close it, a horrible idea occurred to me.
Had 1 packed my toothbrush ? I don't
know how it is, but I never do know

whether I've packed my toothbrush.

- My toothbrush -is a thing that
haunts me when I'm travelling, and
makes my life a misery. I dream that I

‘haven’t packed it, and wake up in a cold

perspiration, and get out of bed and hunt
for it. And, in the morning, I pack it before
I have used it, and it is always the last
thing I turn out of the bag; and then I
repack and forget it, and have to rush
upstairs for it at the last moment and
carry it to the railway station, wrapped up
in }ny pocket-handkerchief.

qIAIAS
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67. When he was going to close the bag, the [70. Female polar bears give birth during
tdea that occurred to him was
T a :
. ‘a) spring
{2t unpleasant prng
‘b sad b summer
¢’ fantastic .
fed  autumn
‘dl  amusing
d)  winter

68. What makes his life muserable whenever :
he undertakes travelling ?
‘a)  Going to railway station 71.  Mother bear
ibr Forgetting the toothbrush (a) takes sides over cubs
¢’ Packing his bag
(b} lets the cubs fend for themselves
‘d;, Bad dreams

! < 1 ites
9. His toothbrush is finally fc) feeds only their favourites

‘al ' his bag (d) sees that all cubs get an equal share
in his bed

t¢; n his handkerchief t72. With reference to the passage, the
d: lost following assumptions have been made
Passage-111 1. Polar bears fast as long as eight

months due to non availability of

o spring, polar bear mothers emerge from |
dens with three month old cubs. The
mother bear has fasted for as long as eight

prey.

2. Polar bears always give birth to

months but that doe= rot stop the young | triplets

from demanding full access to her:

remaining reserves. If there are triplets,

the most persistent stands to gain an Which of the assumptions given above

. - .
extra meai and it may have the meal at is/are valid ?

the expense of others, The smailest of the
‘ \ fa) 1 only
Litter forfeits many meals to stronger

xiblings  Females are protective of their ‘b) 2 only
cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar (e} Both 1 and 2
bears. I've only unce seen the smallest of id) Neither 1 nor 2
triplets survive till autumn.

AW IAS
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67. When he was going to close the bag, the |70.
idea that occurred to him was
(a) wunpleasant
(b) sad
{¢) fantastic
(d) amusing

68. What makes his life miserable whenever
he undertakes travelling ? 71.
(a) Going to railway station
(b) Forgetting the toothbrush
(c) Packing his bag
(d) Bad dreams

69. His toothbrush is finally
(a) in his bag
(b) in his bed

72.
(¢) in his handkerchief
{d) lost
Passage-III

In spring, polar bear mothers emerge from
dens with .three month old cubs. The
mother bear has fasted for as long as eight
months but that does not stop the young
from demanding full access to her
remaining reserves. If there are triplets,
the most persistent stands to gain an
extra meal and it may have the meal at
the expense of others. The smallest of the
litter forfeits many meals to stronger
siblings. Females are protective of their
cubs but tend to ignore family rivalry over
food. In 21 years of photographing polar
bears, I've only once seen- the smallest of
triplets survive till autumn.

P-PFC-L-CGJB (39 - A)

(a)

. Female polar bears give birth during

(a) spring
(b} summer
(c) autumn
(d) winter

Mother bear

takes sides over cubs
(b) lets the cubs fendl for themselves
feeds only their favourites

(c)

(d)

sees that all cubs get an equal share

the
following assumptions have been made :

With reference to the passage,

1. Polar bears fast as long as eight

months due to non-availability of

prey.

2. Polar bears

triplets.

always give birth to

Which of the assumptions given above

isfare valid ?

(a): 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

@ wrAIAS
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Directions
items : !

73.

P PFC L-CGJB

for the following 8 (eight) 74.

Given beluow are eizht items Kach iteni
H
deseribes a situation and is followed by}

Gur vssthle  responses.  Indicate  the |
p P

respunse you  find most  appropriate.

Chaose vnly one response for each item. s
|
» 5 )
Th: responses will be evaluated hosed on
the level o eppropriateness for the gitwn;

sttuaation.,
75.
Please attempt all the items. There is !

no penally for wrong answers for.

these vight items. [

Yau

explanation

asked to
not

have bheen give an
attending  an

mecting:,

tar

Iportant official Your

mmediate boss who has not informed |
you about the meeting is uow putting’
you not fo

ullerat.on against. him/Mer. You would

pressure  on place an|

76.

-a  se¢nd o written reply explaining the
fuet,

‘b, seeh an appointment with the top !

busx tu explain the situation.

¢ admot your fault to  save the

situation,

d- put the the ‘

|
coordinator of the meeting for not-

responsibiiity  on

informing.

( 40 --

A local thug (bad element. has started
Ulegal construction oun your vacant plot.
He has refused your request to vacate and
threatened you of dire consequences in
case you do not sell the property at a
cheap price to him. You would

ta; sell the property at a cheap price to
him.

(b; go to the police fur necessary action.

‘cy ask for help from your neighbours.

‘d}  negotiate with the

higher price.

goon to get a

You have to accompiish a very important
task for your Headquarters within the
next two days. Suddenly you meet with
an accident. Your office insists that you
complete the task. You would

{a) ask for an extension of deadline.

{b) inform

Headgquarters of  your

Inability to finish an time
{c) supgest aiternate perscn to
Headquarter= who may do the

needful.
{d:

stay away 'ili you recover.

You are an officer incharge for providing
basic medical facilities 10 the survivors of
an earthquake affected area. Despite your
best possible effort, peuple put allegations
against you for making money out of the
funds giver for relief. You would

ta) let an enquiry be set up to look into
the matter.

(b) ask your senior to appoint zome
other person in your place.

ic}  not pay attention to allegations.

«d; stop undertaking any initiative il
the matter is resolved.

AW IAS
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Bl 8 (a75) weiel & fw Ader -

73.

P-PFC-L-CGJB

e s geier Be we & | geid geer ¥

vw Raf &1 avle &, 5/9d vearg 396 ar”
vyg 3o faw o & 1 O IR @ I
walfers Juges A &, 39 37T 39T FIR B
w7 H sifa @ifsw | gedd §ee & fow
FacT 0@ & JoX gMe | IR B gediod,
& 7 Reifa & fore Jugeear & wR & 3TEIR
qv o smeT |

puar W gl & FIR Ao 1§ e
yorelt & fow e IR & fow @i @3
T & 1

ve TR teiRe dod A Iutd |
N ¥ BRU AUY IIH! TWEIBHIOT A
g | e e AR e
TP 39 50 D THBRY A& & A7 3|
3T R IE card o <ERE & T s

TG A9 39 W FE S | U H 39 aan|
BT ?

(a) O P DRl BRQ g J9 faRad
3R e

S e SRRy @ Refit ¥ arara
R & foe 39 e o §Hg

(b)

fofa & 9urem & foe 3= <
WeR T |

(c) -

5 F I W svasrmﬁ:rca
e & b 39 S5 @& TSR &
Al

(d

74.

{41 - A}

75.

76.

vF WM TS A 390 Il T8 ;
ardy o 3Ry R Rar &

ﬁwqﬁmﬁmmmmlt@fﬁ'
T T TR P

(a) mﬁraﬁﬁmﬁmﬁwaﬁaﬂaﬁl

(b) NETAPS HRAE & o U
STTET | gere

(¢} 39 uSi¥al § Haeg JHAT |

@ 3 3 ¥ IR e ora Tm & e
3R aradid B |

3 & feAT # s

U6 i Hevaye! S 1 &1 & | 3rae® &

T GUEATIR & I € | 31U BT A1

R gE FK 1 Y& 2 6 39 & & [ R |

U H 3T T HRA 2

(a) aﬂn{ﬂaﬂﬁﬁaﬁn%ﬁxmaﬁaﬁ
et S |

(b) N TEUEE B gua s e 3w
T WS QBRI A IR e |

() W EIEd B UF doicas ARG &
T G 3 BRI G HR TPl & |

() aasaﬁ#aamaﬁ%ﬁl

W B & fore wﬁﬁm@

oo v & | U R 9vE PR &

SaS[E, I 3MUS FIR T IR a0 K & {6

NGIEA S R A T II I NIRRT |

O 39 T B P

(a) 3T Ry & 39 G # Sia-usard
TRy B I |

(b) 3T aRws e I Fdew w91 6 9
TG WH W B g Aid @
frgm a2 |

(¢) 3 RN W B eaF A& < |

(d) 59 q9% "Wl oo @ S e Hd
I DI UBA ARl B |

qEA IAS
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77.

78.

P PFC-L-CGJB

You have been made responsible to hire ’79.

notice to be used for
flood. On secing the
price mentioned by the boat owners you
found that the

approximately three

boats at a short

an areus under

iowest  price  was
than
the approved rate of the Govermment

You would

times more

i — et ——— —————

‘a’ reect the proposal and cail for u

|

fresh price
ib- accept the lowest price.

‘) refer the matter to the Government i
and wart,

td: threaten the boat owners about a -

possible cancellation of the licence. |
You are the officer-in-charze of a viHagv!
administering distribution of vaccine in '
and '
left  with only one vaevne.

an isolated epidemic hil village.
you are
There 1: a requirement of that vaccine ]

from the CGram VPradhan and alsu

poor villager Yuu are being pressurised |
by the Pradhan to
vaceine to hom. You would

(iram "ssue  the !

fay ipitiate the procedure to expedite
the next supply without issuing the |

vaccine to either. l

. . . . |
‘b arrange vaccine for the poor villager

from the distributor of unother areu.

(¢t ask both tn approach a doctor and '’
get an input about the ureency. :

|

‘d;  arrange vaccine for the Cram'

|
Prachan from the distributor of

another area

(42

a1 80,

?

You have taken up a project t¢ create
night shelters  for prupie
Within a
shelters,

e e

during the winter  scuson.

week  of establishing - ae

have

you
from the
residents of (he area abont the increase

recetved complaints
in theft cases with a1 demand to remove
the shelters. You would

them to written

(a; ask lodge a

complaint in the police station.

tby assure residents of an enquiry into
the matter.

fe:  ask  residents  tu consider the

humunitarian effurt made.

d  continue with the prject and igrore

thelr eomplaint.,

You, as «n  administradive authorty,
approached, by the

dauzhter-inlaw of an nfluential per.un

have bewn
regarding narassment by her in-laws on
account of Her
parvits are not able to approach you

msufficient  dowry.

because of social pressures. You would

fa} call the in laws for an explunation.

‘b, counsel the

lady to adjust, given
such a circumstance.
‘'c take action  afier  her parents

approach you,

‘d: ask ber to lodge s complaint with
the police.

A IAS
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77.

78.

P-PFC-L-CGJUB

S Sig-Uid &7 H IS FW GO W
HiEl a2 W) o &1 i o mar &
W A I § fF gAaH HEd ReR B
I ® F @ @9 I afee §
U H AT FIT B4 ?

(a) 3P Y@ ® E B A o
Hrramen |

(b) ATH BHAT B WHR I o |

(¢) HHA P WROR d T AT e 3R

TN BN |

(@) Hterafasl @ el e B T
T3 JE & 9ol ¢ |
W Hba HemMR-afdd e # sy
-FREes &% &1 fTaRer A g gu
e € 3R AU Tw Fad U
RAT-FRIOS T aar B3 8 | 39 4% @
-y @ 3R 39 T $ e el @
W SR @ | 39 W I8 &§I9 g1 g3 @
Fawmdm R & | WY
3T FGT T P .
(a) AT B B TP 7 AP AT b DY
e |y o gfy g-sifaeiy ww
gﬁéﬁ%ﬂﬂﬁaﬁm@eﬁaﬂ
|
5 TR &3 ¥ o & tia ¥ 39
fre & foe S & oaaERen HY |
(c) QA & el T gfaey A et 3k &
H FAEITHT F IR J ITH IO
oiEx 3 |
&0 R & & [aae 9 am-vaH &
fore &% & Tawn B |

(b)

(d)

79.

80.

(43 - A}

3, o g § W dmi & foe H-aR
T P TP URAIFET 30 g W g |
3 -39 31 wilia &= & P 99’ &
MR &, e 39 &7 & il ¥
AR & A g P! ¥rpraar & 9 ag
mwgé%‘%’haﬁwﬁemlﬁ%
¥ 39 qUT & P

(2) Y Hargal & & fb 9 39 A
gferd weH w® Al foRea Rierad
ool & |

(b) mﬁaﬁu‘raﬁag%aamﬁmﬁ%
e & Sa-USaie 7 S |

© 30 Rt ¥ w2 5 3 fee w
AHaaael Ay o A |

(d) 3 Faf & Remg & s=eaEr
R RIS B TR @ |

Uéswlawﬁ’rm%ﬁa%mmqm.

FUE FITEEE WEHR BH AW, I8

Rreraa diax 3t € 6 390, 99 a3

AT cgsl & folv d1 o= <@ € | 39

HrerT-fUar |rifsies garel & SROT S qE

TR TR E | 0 A Y @ &= P

(a) HT IG5 YYRICT Tt D G 379

TEHROT HIAT |

T 39 S D TE G 4N B

wRRafal &1 <@d g s&R 8 6

TRy g e |

(c) U Iqb HIA-TUar & AP 9 3
W & TR BT |

AT I A P gE geg & B @'
gferd & U 30 R &t e |

(b)

(d)

qETA IAS
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_aqaamqaﬁa?qﬂwgﬁﬁwa?ﬁ#a)#mmaamaa?ﬁ L
A.4.9. : P-PFC-L-CGJB wltarr giRest S

wiaor gRawmT

AT ASGYA
AF A - 1T

1. odien RS @R & g arg. 3 39 werr gRasr oY ggera siavd ox 8 6 o o e ew, wan
mw@nwmmaﬁmﬂ:aﬁm% ar 3 W whaor yRaes § ez e |

2. FwR-wEs A W v R wlteror Rawt arfeH A, B, C a1 D aenRuft W wa 3 geag S |
3. vu Tam gRael R a0 Re ne evoe ¥ 300wt A = B0 "i
S & me g et gRdal R FHR P8 T o/ | | R R

4. ga oo giiam § 80 e (%) e e F | 9 soier et 5K sioh A 4w ¥ Riara 3 wed
TN S v dme B £ AR Y Haor 3T F 1 Tl AT 8 R wegwR (o Re e @ o R
T HegeRk Y g o TR 3 3ER-0aw W 311‘&:@ S Ud ¢ 1 aR o Y At ve & st
I |l A 3 wegad @Y b ad sl Aeet qERm ol | Hedds AT & fov daer g8 ¢ wegee
et
5. @ s WY e Hew § o e IR g W & oifhd 6 & 0 Jawme F v o She 2w
.t yedrel ¥ e e ¥
7. 34 ue W o ndieor gRda B Ry goiel $ gegeR Su-tae W osfEa e g H el vl
e o & e I seRel B STaR §o ko swR-tae 3
8.  H9 U W el O SACTid A WRA B <IE qEl WG & FHINT W Bae IAR-0Ae sdlds of Wiy
£ smaey e | weror yResr o S af seake &
9. o ww h T A et qfdwt H 3 § Ve &
10. wEd 391 & e avs -
ae1 T #§ Iniler gRT 2T e merd Iekl & e Rar smem, Ryara w73 9 80 a8 &, G foe
e IRl & fore o dw A #
g ade yee & e ar duiftte aat & aeiiea o Wl 39 ast & T, el o &3 @, Re o
2if A1eTeT Fu) B e wed &g Had fer me kel o vo-Rer dg & wu F wver onem ¢
G T o suied] Tk § Afine 3ok &A1 X @ 39 et 3R Wi S, Tt B e 3ud R @TE& EGE
#d Pt @l g B mqﬁrgm{ &, 3 we o ds fom snem, of sud Re & &
i TR IENEER GR1 B W v 48 oo e &, st IR gRY IoR 2@ fear o &, o 39 9
¥ fow oY d ff Tar e

51 g ! gg el gReT @l @) 7 Bel S v
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Note : English version of the instructions is printed on the front cove




